HsHAE =22

XLE(Chart)= 1) HIO|E{ Q| 2 & mHt5t
A A+ =L
Msd AE =224
OIXtE
2-1. 7|2 IO|XE £3 ;. pie()
222, 7|24 ¥y
2-3. Mt 2 =7
2-4.3D IO AtE : pie3D()
3. HHXLE
3-1.7[2H AE &3 barplot()
3-2. BFCH ol A K|
33.x yE M= 7|
3-4. yZ=O| MoK =
3-5.OO|H 2t =5
1) HEO| AEHH 2|0f 2t = .
2) HEQ| At SHTHO)| 2h =3
3-6. H AtEQ| =H 3| (7} 2 akrf)

4 2B B H A E
4-1. AEY HE X}E (Stacked Bar Chart)
4-2. 15 Ht Xt E (Grouped Bar Chart)
5.xYyE2¢
5-1. 7| & xy
5-2. Jef=
5-3. 2=
54.Z2Y
6. 5|~ET
CK|ZIo] ZE 0| Tt S| AR TR
Al T2t A

=
EHEER

8. R Graph Gallery

quakes

HIO|E M E 0|8
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2. LHO|XIE
2-1. 7| 2 LO|XIE &8 : pie()

# OOl ¢
x <- ¢(9, 15, 20, 6)

label <- c("€2& 18", "&Y 28", "gg 38", "I 48"

# IIOIXIE 1eld|

pie(x, # Iol=222 HAIE OOIH
labels = label, # IOl =20l A8 =
main = "SAHE L AAH") # NES MM H=
A Y A
T 29
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2-2. 7| HA
init.angle=90 S 2 7|FEM HA,

pie (x,
init.angle = 90,
labels = label,

main = "SMEZ 22 4F")

itas
!

# 12A101 DIEH &F

clockwise = TRUE => A|A|gtat : Al AHECY

T

Fc‘st)

0
0
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A X
o paste() &+E 0|80 XAt =%
pct <- round(x/sum(x)*100)

# label ZTZ.

label <- paste(label, pct, sep=" : ") # "3Y 18 : 18"
label <- paste(label,"%",sep="") # "d9H 1€ : 18%""
pie(x,

labels=1abel,

init.angle=90,

col=rainbow(length(x)), # SXIJ§&, 220 M4 length(x)

main="S2 Mg S AXN")

2AE @Y A

I 12 18%

o 28 30% :30%

249 12% 1 12%

o 32 40% - 40%
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2-4.3D I}O| X}E : pie3D()

o explode() 2 =& 70| 7tA XY,

e labelcex = 2 Z2Ate| A7| =H

install.packages("plotrix")

library(plotrix)

pie3D(x,
labels = label,
explode = 0.1, # IHO| A& 2+9] 2t 90|H 2+A0]
labelcex = 0.8, # ot 2% 3I|. (.81 =)
main = "SAHZ 2 AF")
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http://blog.naver.com/PostView.nhn?blogId=hsj2864&logNo=220604182306&parentCategoryNo=&categoryNo=36&viewDate=&isShowPopularPosts=false&from=postView

3. HIXLE
3-1. 7|2 Ht X} E &3 : barplot()

height <- c(9, 15, 20, 6)

name <- C(”%‘g 1%", n%.g 2%", n%.g 3%u' n%.g 4%u)

barplot(height, # L2 EAEZ= OOIE : height (%E)
names.arg = name, # U0 20l EAIZ= 018 CIOIE : name (®H)
main = "SME Fg AF") # HIXIEQ M=

20

15

10
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3-2. 2tCHo| A X|%H

col = Q=2 M X|H
barplot(height,
names.arg = name,

main = "SAHZE I HAAH",

col = rainbow(length(height)))
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af://n41

3-3.x, yR2 M= &7

xlab =" " 1f ylab =" " 0|83}, x=2| M= y=o| M= X|F
barplot(height,
names.arg = name,
main = "SAHZE I HAAH",
col = rainbow(length(height)),
xlab = "£A", # x=2 M=
ylab = "2 AA (A 2)") # y=2 M=
2AE @Y A
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]
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o
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T
31
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o
g 1g ga 2y Yo 38 ga4d
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3-4. yHo| Aot =7

ylim = c(min, max) E yH2|5otX|f AotX| =F

barplot(height,
names.arg = name,
main = "SME g A",
col = rainbow(length(height)),
xlab = "SA",
ylab = "2 AX (o )",
ylim = c(@,25)) # y=°| TAIYUS 0 ~ 255 XN
SAE Y A
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3-5.G|O|E| 2}'H &£

1) HEQ| AbThe Qjof 2H4 £3 : text()

bp <- barplot(height, # HIXIEE el 1 ZUE B bpll ME
names.arg = name,
main = "SME g AA",
col = rainbow(length(height)),
xlab = "S A",
ylab = " AX (S )",
ylim = c(0,25))
bp # bpe 2IAE B,
height
text(x = bp, # BHOl 2t ==, xst2 bp
y = height, #y a2 HIXESl xgtol height
labels = round(height,0), # Ht0l ZAIE 3t height, round(height, 0) : A=&O0|&t
=8
pos = 3) # BHOl 2tgol EAlE= fX 1, 2, 3, 4 => 32 H2 <
ol .
2AE @Y A
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o
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2) HfQ| A THH SR 2HE =

bp <- barplot(height,
names.arg=name,
main="SANZ Fg L4F"
col=rainbow(1length(height))
xlab="5Al",
ylab="9 A= (A )",

ylim=c(0,25))

’

text(x=bp,
y=height,
labels=round(height,9),
pos=1) # 12 Ht2 2ol ZEAl
SAE Y A
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3-6. Hf XIE Q| £ 3| ™M (7} 2 Ttrj)

horiz = TRUE 2 H} XIEQ| UtsF2 TS HIE,
barplot(height,
names.arg=name,
main="2ANg g =",
col=rainbow(length(height)),
Xlab:"gg /éla(g %)”'
ylab="5=A",
horiz=TRUE, s
width=50)
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4. 2BQ/ O EQ HHXE

e beside = TRUE ZHIXIEE

o 7|23f2 beside=FALSE (AEHH)

gozHE S

I
ojo

yril

4-1, 2EH3 H} X} E (Stacked Bar Chart)

height1 <- c(4, 18, 5, 8)
height2 <- c(9, 15, 20, 6)

height <- rbind(height1, height2)

height
name <- c("¥g 18", "I 28", "IY 3", "I 4€")
legend_1bl <- c("20144", "2015E")

barplot(height, main="AZ 2 AF",
names.arg=name,
xlab="S A",
ylab="9g¢2 A= (A )",
col=c("darkblue”, "red"),
legend.text=1legend_1bl, # XEO Hell HA
ylim=c(8, 35))
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4-2. 159 H} XL E (Grouped Bar Chart)

barplot(height, main="AMZ <& &

Ja

names.arg=name,

xlab="F A",

ylab="9¢2 A= (A &))",

col=c("darkblue", "red"),

legend.text=1legend_1bl,

ylim=c(0, 30),

beside=TRUE, # 58 HIXNEZ HAE
args.legend=1list(x="top')) # galo AKX XNE
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HE7h St 7HQ AR, x5H2 O B2 MOIBS I 25| 0, y=0]| 1 240| EAIE.
women # data set
str(women)
weight <- womenSweight
plot(weight) # weight =
o
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o
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HA7t 7ol AL xS

x =
) Y| E

height <- womenSheight

plot(height, weight,
xlab="37|",
ylab="S2H")

|

.

# x=0 height, y 0| weight
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5-2. A2 = &3 2 X| 57|
type = O| E &8 2 X|H. uXf p. 135 &1

plot(height, weight,
xlab="3[",
ylab="=%A",
type="b") # p. 135 10 (F1 &)
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0| I

"1 2 X|RSHHE Qg Z2F Mol k0| &

e 1ty = (1~6 2 MOl FH XH
o lwd = :19/ ZHO| 7| & gk 22 X|HSHH ot FA| EA|E

plot(height, weight,
xlab="3[",
ylab="227",

type="1

1ty=1,
lwd=1)

160
|

150
|

140
|

130
|

120
|

"
’

# & 1eld|
# &

# Jl= gt

58

60 62 64 66

7

68

70

72



af://n103

5-4, 228 2Xlo| £

pch = Of 2/ E2E EALX|E. B 137, &2

plot(height, weight, # x=0 height, y =0 weight
xlab="2[",
ylab="=%A",
pch=23, # CHOIOt=2E 22
col="blue",
bg="yellow",
cex=1.5) # CIOIOF2ES 3AJ|. 1.58H
e
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6. 5| AE 124

6-1.

head(quakes)
str(quakes)

mag <- quakesSmag # mag : A& 2&, ALXE B
mag
hp <- hist(mag,
main="X& £ 2o 2",
xlab="XI& 2&",
ylab="2r28 21")
hp
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#====== hist() -> barplot()22 HEHAN tHLI]
head(quakes)

mag <- quakesSmag
hp <- hist(mag,

0z
N
H
1o
Rl
Hl

main=" X & &
xlab="X& 2

=
)
ylab="2a 242"y

(height <- hpScounts)
(name=as.character(hpSmids))

bp <- barplot(height,
names.arg=name,
col=rainbow(length(height)),
xlab="X&2&",
ylab="2MBIC",

ylim=c(0,250))
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text (x=bp,
y=height,
labels=round(height,9),
pos=3)

#======= QpBIC)| 2
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6-2. Alg T Ztat M

o col = :AZMXH
o breaks = :AZ° FHXH
colors <- c("red", "orange",

hp <- hist(mag,
main="X| & &4
xlab="X& 2&",
ylab="22 21+

col=colors,

breaks=seq(4, 6.5, by=0.5))

hp
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#====== hist() -> barplot()22 HEHAN tHLI]
head(quakes)

mag <- quakesSmag
colors <- c("red", "orange", "yellow", "green", "blue", "navy", "violet")
hp <- hist(mag,

main="X& 2 A2Co 2R,
xlab="Xl& 2 &",
ylab="2r20 21",

col=colors,
breaks=seq(4, 6.5, by=0.5))

(height <- hpS$counts)
(name=as.character (hpSmids))

bp <- barplot(height,
names.arg=name,
col=rainbow(length(height)),
xlab="X| &2 &"
ylab="2MPIC",
ylim=c(0,5600))

bp
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text (x=bp,
y=height,
labels=round(height,9),
pos=3)
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bp <- barplot(height,

bp

text(x=bp,

gl

y=height,

names.arg = name,
col=rainbow(length(height)),
xlab="XZ2AZ",
ylab="ZMBIE",

ylim=c(0,600)) # ylim = c(9, 600) 22 =3

labels=round(height,9),

pos=3)
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A A A=
& BpoldlzsE

mag <- quakesSmag

hist(mag,

main="X&
xlab="X&

S|IAEZOMo=z 02 o] EEUE 1 0|CH

ylab="sl22 ",

col=colors,

breaks=seq(4, 6.5, by=0.5),

freq=FALSE)
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lines(density(mag))
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HeE TN 2452 LH+H 0| 0| 4 =7t EIC
colors <- c("red", "orange", "yellow", "green", "blue",
mag <- quakesSmag
h <- hist(mag,

breaks=seq(4, 6.5, by=0.5),
freq=FALSE)

Histogram of mag
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hSdensity <- hScounts/sum(hScounts) # AUS= R3]
plot(h, # AUE= 08 1210
freq=FALSE,
main="X& 28 2Eo 2L,
xlab="X& 2&",
ylab="4&01 &=",
col=colors)
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6-5. 22l +

breaks = "Sturges" 7 7|2%+<.

hist(mag,

HELL

main="X& 2N 2o FILL"
xlab="X& 2Z&",
ylab="SE2 %",

col=colors,

breaks="Sturges",
freq=FALSE)

A
rA
ne
i
o
H
ji=]
Hr
Kl

10

08

08

04

02

0.0

4.0 4.5 5.0 5.5 6.0

HEZE


af://n175

mag <- quakesSmag

min(mag)

max (mag)

median(mag)

quantile(mag, c(0.25, 0.5, 0.75))

summary(mag) # 2° min, max, median, quantile It HlwH}E
boxplot(mag, # summary(mag)E 8oz HAlE
main="X& 24 2&o 2x"
xlab="X&",
ylab="2 ="
col="red")
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=

7-2. _JI\_.I_.IH HF A 2

o 11—

3]

horizontal = TRUE 2 A EX0|8Iakg T O Z HHFLCH

boxplot(mag, # summary(mag)ES 2= HAIE.
main="X& 28 2&o 2L,
xlab="X[&",

ylab="24 24"
horizontal=TRUE,
col="red")
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boxplot(mag, # summary(mag)ES 2= HAIE.
main="X& 28 2&o 2L,
xlab=" X &I"

ylab="%244 1*#
horizontal=TRUE,
notch=TRUE,
col="red")

ERURE
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8. R Graph Gallery

https://www.r-graph-gallery.com/index.html
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https://www.r-graph-gallery.com/all-graphs.html
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https://www.r-graph-gallery.com/index.html
file:///D:/GitHub/R/R-for-BigData-Analysis/source/ch_05_Chart.R
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file:///D:/GitHub/R/R-for-BigData-Analysis/ch_4_Excel_Address_Google_Map.html
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file:///D:/GitHub/R/R-for-BigData-Analysis/ch_5_130_Labelling_Horizontal_Bar_Chart.html
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